77 R A BRI
r store the Magazine ab

)

) aa 28R NI
(Never place it ar fire

L

] Caution! A VORSICHT

A PRECAUTION
NE PAS UTILISER D'AUTRES

Ausschiesslich fur diese Pistole bestimmte
Munition verwenden.(6.0mm Kunststoffkugeln)

PROJECTILEE QUE CEUX FOURNIS () Fare attenzione

F I (15 52
RY 1 4

. £

[] Be sure to wear shooting glasses or | (&)
Goggle when shooting :
A Toujours porter des lunettes de tir ou de protection
quand vous tirez
v Zum Schie n stets eine Schutzbrille tragen
M Asegurese de llevar puestas las gafas de proteccion
cuando dispare

Asslcurarsi di indossare lenti di Protezione quando
sl spara

< | “ 1 ‘),‘1‘”"'““
N EAEN
Put the gun beyond the reach of kxd‘s
A Tenir hors de portee des enfants
Pistole immer kindersicher aufbewahren
B Ponga la pistola fuera del alcance de los ninos

Tenere fuori Dalla portata dei bambini

@ aa Z) 74 B 1R i
7 (Never place it di tly under sunshine)

e AT PR 4 A
[] Don't peep at the muzzle
A Ne jamais regarder
dans le canon
/\ Nie in den lauf schauen
- Jamas mire por el canon
O Non guardare mai dentro la canna

Don't aim at people even if it is unloaded
A Ne jamais viser quelqu'un meme si votre
pistolet est vide
/\ Auch bei spiel-und Sportwaffen besteht
Verletzungsgefahr. Auch ungeladen nie
auf einen Menschen oder ein Tier richten!
W No apunte a personas, incluso descargado.

(O Non puntare mai verso le persone anche se la pistola
scarica

T
[C] Don't touch the trigger until the
moment of shooting
A Ne jamais appuyer sur la gachette le rearmement
/\ Abzug erst dann beruhren,wenn Sie  zum Schiessen
bereit sind
B No toque el gatillo hasta el momento del disparo

O Non toccare il grilletto fino al momento di sparare

PR ] DL
[C] After making sure that there is nobody nearby
A\ Toujours etre sur qu'il n y a personne dans
la trajectoire de votre tir
A Vergewissern Sie sich vor dem Schiessen stets,
dass niemand getroffen werden kann
M Antes de apuntar aseguese que no hay nadie cerca

(O Assicurarsi semper che non ci sia nessuno sulla
traiettoria di tiro

g 1 T P
[C] Avoid a rough operation
A Ne jamais jeter le pistolet
quand il est arme
/\ Geladene Waffe stets mit Respekt
BehandIn. Nicht werfen oder unsanft Jandhaben
B No tire ni lance la pistola, se puede disparar
O Evitare azioni brusche

e A A % UMM, T 4 1 e 6 SR 12

K A+ RERE LI © A

[] When the gun is not in use, remove

the magazine and unload BB pellets =
A Quand vous ne |'utilisez plus,bien '
Faire attention de retirer le chargeur

et de le desarmer

/\ Zum Aufbewahren Magazin entfernen und
Kugeln herausnehmen.

B Cuando no se este utilzando la pistola, saque
todas las bolas

(O Quando I'arma non e in uso, estrarre il caricatore
e scaricare i pallini

SRR 7 kI R A e i R FOA

[] Miss handle the airsoft gun may condition serious injure or death. Please read the safety instruction before use

WE-TECH

FOR AGE 18 YEARS OR OLDER

INSTRUCTION MANUAL
http://www.wemodel.com.iw/

MADE IN TAIWAN




(1) &&E41% Name of pa

(2] 58[E %18 Magazine I

BIEER

BKiE

He6mmBBIEE A RS - BHSA Yo ELA RSB E AR RO B E AFL A
SR B R B A TE ] B TR BRI 1 2kg LI |
o 23 \ BB

(3) #&% E B2 Bim 208 P

TerEHAR

o8 [FRE AR

-

w0

ERR SE3E G

E5EERTER, 58 1 FRABNA Z2HTARAE ISR RR S, oM NERE, LIERME b, MRTE LR
BlA IEARAE



(4) #&FABE5)f Field Strip

\

BTREE S

BT a5l

r O

ARy

STRABTEEAME 5 K E8 R

£

AHEFEERARTE Lt

(4] HBRALESMEE Field St

AR (AR EEAE R KEBASTAL, ARSI (ERN A

(5) 5i%:%280  Ambidextrous

fRiatEX FHENH RN EEIEE 205
Safty Mode SEMI-Auto Mode Full-Auto Mode
Rt AR S N— AR R RER S — R 73R MR - FR& SRS



(6) BRXF[E EXPLC

B ETHERE (MERE T HEE BERE T HERE OBERE T HALE HE
01 |[B5% 1|4 |REELE 1|81 | REEEEE 1 121|818 1

02 |54 1 |42 | FRdE4 1|82 |FitE5FHE 1 122|818 2

03 |3t 1 |43 |OFB29X1 2 |83 |FiEGFEEE 4 |123| BiRAEE 2

04 | EZihen 1|44 | HEsER 1 |84 |HOP UPE-A 1 |124| 78155 0

05 |EiFshanm 1 |45 | FREEA 1 |85 |HOP UPE-%& 1 125|M3X10%:38 2

06 | E& 1 |46 |FERREE 1|86 | AER 1 |126 | HEAARABMAX2S | 2

07 |BEFK 1 |47 |PIN2X14.5MM 1|87 | e’ 1127|558 10
08 | HhiiEEER 1 |48 |EARREE 1 |88 |HOP UPEi%:;Ef2 1 [128 | A AMAX45 | 2

09 |BSRATENR 149 |BEEEEAEE | 1 |89 [HOP UPH%SR 1 129 | EEAAAMAX35 | 1

10 | #8$t 1 |50 | FoERRE 1 |90 | HOP UPiE &% 1 |130| EEASAMAX30 | 5

1 | EHnIR 1|51 |EROE 1| 91 |1BHEPREZR 1131 | @2 1

12 | REEER 1 |52 | Rl 1|92 |0B2X1 1132 |fzsaAe 1

13 | AR | 53 | REBBETH 1 | 93 |M2x8+ZE® 2 |133 | EERM 1

14 4 | OB2X1 1| 94 |HEHEPRI AR E 1 |134| OBB2X15 1

15 | 55 [OB5.5X1 1 | 95 | BBRE#E1E 1 1135| OB7X1 1

16 | 1 |56 |M25X5F 5 2 | % |BBEIEIRER 1 136 OR4.5X1.5 EN
17 | 1 |57 | BHOHESR 197 | %8R 1 137 | BEER 1)
18 1 |58 |EERERE 1 | 98 |BBEIRIZAI 1 138 | FHET 1

19 | BEERRE 1|59 |EERESS 1 | 99 |BBEIBHIES 1139 | miEsR 1

20 | Bt 1 |60 |M2X4Z3ERA 2 [100|M3X35+%F 1 [140 | FeE 1

21 | 2E8ER 1161 | RIS TIHE 1 [101 | H433X3 1141 | EERRE 1

2 | ZEIEEH 1 | 62 |M3X60+F 1 [102|Eite 5 1 142 | RIBEE 1

23 | AR 1 | 63 M3X10+F 1 [103| EER 1 |143 | ®iESE 1

24 | SR 1 |64 |O1B2.5%1.5 2 104 |M2X10+%F 2 | 144 |PRERR 1

25 | i 1 |65 | OB45X1 1 |105| FEEM5X30 1 [145| REEA 1

26 | 1 | 66 | &R 1106 | F-3EM2.5X4 2 |146| REEEL 1

27 | iR FHERRRR 1|67 | fRiEEE 1107 | M3X8TEAAH 3 147 | BEHG 1

28 | M3X8+F 2 |68 | il 11108 | 141 1 148 | OBOX1 1

29 | IR ERRE 1|69 | RiFHaEE 11109 |EE# 1 149 | BEEEE{8h 1

30 | ZBEEGTEE 1|70 |Higeg 1 [10|ER% 1 [150 | OF810X1.25 4

31 | BpEE 1|71 | EEESE 1|11 EEETSA 1 151 | MAX16MMEZR% 4

32 | M2.5X535 1|72 | BEFERE 1 12| BREETRE 1 |152 | MAX30MMEERE 2

33 | M2.5X10EE 1|73 |iEEEERR 1 [113 | F8EM2X5 4 |153|0%3X1.5 2

3 | RS 1| 74 |HikRE 1 |114| ERATEE 1 |154| M2.5X8EEA 2

35 |M2.5X5 88 1|75 | £R% 1 |115| 8k 1 |155| EmARe 1]
36 | PIN1.5X4MM 1|76 | &HiR 1 |116| BRARRES 1 (156 | PIN4X19 1

37 | 2EHEEES 1|77 | 6588 1 |117| PIN1X18.5MM 1 |157 | M2X3.5(B %) 2

38 | PIN1.5 X 7MM 1 |78 | Atk 1 118 | 0B15X2 1 [158| MaXoMMEE& 1

39 | FEREAR 1179 | LBE 1 [119|OBB7X1 1

40 |REETE 1|80 |Fpkig 1 1120 | PIN2X13 1

(7) ##1EE EXPLO!




